

Republic of the Philippines Department Of Concation

Regional Office IX, Zamboanga Peninsula

PURCHASE ORDER

Supplier:

JOZETH TRADING

Address:

TIN:

Suite 307 Pasda Mansion, Panay Ave., Cor.

Timog Ave., Quezon City

Purchase Order No.: Date

2022 05 119

July 20, 2022

Mode of

Procurement:

NEGOTIATED PROCUREMENT -

SMALL VALUE

Gentlemen:

Please furnish this office the following articles subject to the terms and conditions contained herein:

Place of Delivery: Date of Delivery:		DepEd RO-IX, Balintawak, Pagadian City Within 45 CD upon receipt	Delivery Term: Payment Term:		FOB Destination
					90 days
Stock No.	Unit	Item Description	Quantity	Unit cost	Total Amount
1	Unit	QX1222USB 16-Input 2/2-Bus Mixer with XENYX Mic Preamps and Compressors - Built-in stereo USB audio interface - Four studio-grade compressors with easy "one-knob" functionality - Two aux sends per channel:One pre-fader for monitoring applications - One post-fader for external FX devices	1	24,698.00	24,698.0
2	Unit	Professional 4-Channel UHF Wireless Headset Microphone/Lavalier Lapel Microphone System Wireless Microphone System with Bodypack Transmitter and UHF Diversity Receiver - The receiver has four XLR balanced outputs and one 1/4"(6.35mm) mix output jack that can be externally connected to a variety of external devices such as amplifiers, mixers, stereos, and more.	1	9,500.00	9,500.00
3	Unit	Wireless GO II Dual Channel Wireless Microphone System - 3.5mm TRS analog output, USB-C and iOS digital output — universal compatibility with cameras, mobile devices and computers	1	20,380.00	20,380.00
4	Uniit	Wireless Microphone System 4-Channel UHF Cordless Mic Set With Four Handheld Mics, All Metal Build, Fixed Frequency, Long Range 260ft	1	23,430.00	23,430.00
5	Unit	EOS R6 Full Frame Mirrorless Camera with RF24-105mm f/4L IS USM and 128GB SD Card (100MB/S or High Speed) - Full-Frame Sensor and DIGIC X Processor, - 4K60 and Full HD 120 Video Recording - Dual Pixel CMOS AF II, - Dual Slot: SD/SDHC/SDXC (UHS-II), - 1 x Micro-HDMI Output, - 1 x 1/8" / 3.5 mm TRS Stereo Headphone Output, - 1 x 1/8" / 3.5 mm TRS Stereo Microphone Input	1	194,800.00	194,800.00
6	Unit	RF 35MM F1.8 MACRO IS STM LENS	1	33,300.00	33,300.00

I	-	RF 24-240MM F/4-6.3 IS 12 LENS		1 2 1 5	
7	Unit	- RF-Mount Lens/Full-Frame Format, - Nano USM AF System - Optical Image Stabilizer and Dynamic IS, - Customizable Control Ring	1	60,000.00	60,000
8	Unit	LP-E6NH BATTERY PACK (ORIGINAL)	1	7,450.00	7,450.0
9	Unit	ACK-E6 AC Adapter DR-E6 DC Coupler LP-E6 LP-E6N Dummy Battery Power Supply Kit for EOS R R5 R6 Cameras	1	860.00	860.0
10	Unit	X-S10 Mirrorless Digital Camera with XF18-55mm Black and 64gb SD Card 100MB/s or Higher Speed and extra NP-W126s Battery	1	78,950.00	78,950.0
11	Unit	AC-9V+CP-W126 AC Power Adapter with CP-W126 DC Coupler Dummy Batterys Kit for Digital Camera X-S10	1	1,500.00	1,500.0
12	Umit	Powerextra Batteries for Fujifilm X-S10 NP-W126S	1	1,670.00	1,670.0
13	Umit	XA11 Branded Professional Camcorder - 20x High Definition Optical Zoom Lens - Advanced HD CMOS Pro Image Sensor with Improved Low- light Performance - Full HD 1920x1080 Recording Capabilities - 3.0-inch LCD Capacitive Touchscreen with Tilt able Electronic Viewfinder	1	78,900.00	78,900.00
14	Umit	HERO9 Black 5K video and 20MP photos with Magnetic Swivel Clip, 1 Spare Battery, 1 Floating Hand Grip, 1x 32GB SD Card, 1Camera Case No Ratings	1	23,980.00	23,980.00
15	Unit	TT685C Thinklite HSS TLL Flash Mark II MVP Camera	1	6,500.00	6,500.00
16	Unit	JJC LH-73D Petal Bayonet Lens Hood for Canon RF 24- 105mm F4-7.1 IS STM & EF-S 18-135mm F3.5-5.6 IS USM Lens replaces Canon EW-73D MVP CAMERA	1	900.00	900.00
17	Unit	JJC Petal Shape Reversible Lens Hood Lens Protector for Canon RF 35mm F1.8 MACRO IS STM Lens with an Adapter Ring	1	1,160.00	1,160.00
18	Unit	Multi-function Digital Carnera Bag Shoulder Strap Cross Outdoor Recreational Waterproof Rain Proof	2	955.00	1,910.00
19	Unit	Replacement 3.5mm TRS to 3.5mm TRRS Adapter Cable	3	360.00	1,080.00
20	Unit	Delicatemoon Economical 2.5 male to 3.5mm Female Stereo AUX Audio TRS Adapter Converter	3	141.50	424.50
21	Unit	ELGATO CAMLINK 4K 1080p60 Broadcast Live Capture Device USB	1	8,510.00	8,510.00
22	Unit	1.5Meter Micro HDMI to HDMI 2.0 Cable	2	490.00	980.00
23	Unit	High Speed Mini HDMI Male to HDMI Female Cable Support 3D & 4K-Mini HDMI	2	399.50	799.00
24	Umit	Micro HDMi to HDMi Cable (Male to Female)	2	357.50	715.00
25	Unit	KH Series KH25P Aluminum Video Tripod Kit	2	10,245.00	20,490.00
26	Unit Unit	Benro T-600EX Tripod Camera Tripod DSLR Tripod Height Adjustable Telescopic Large Mobile Display TV Cart for 60"-100" - Adjustable Height TV Cart, Main Material: Steel, Plastic, Maximum Load: 100Kg/220lbs, VESA Compatible, Supported Flat Panel TV Sizes: 60" to 100"	2	1,730.00	3,460.00 35,720.00
28	Unit	True Vision Portable TV Tripod Stand for 37"-70" TV08-46T	2	5,380.00	10,760.00
29	Umit	True Vision Multi-Purpose Tripod Stand for Laptops, Projectors & Monitors TVTS-9M	1	5,060.00	5,060.00

	11.5	CURVED 144HZ ULTRAWIDE QHD 3440X1440 1MS		- 00 075 00	59,350.0
~	Unit	FREESYNC FRAMELESS MERSIVE GAMING MONITOR HEIGHT ADJUSTABLE	2	29,675.00	
31	Unit	Video Capture Box, Acasis HDMI Video Capture Card 4K 1080P USB 3.0 HD	1	2,780.00	2,780.
32	Unit	Sailboat Tower Power Socket Extension With 8 Universal Socket and 6 USB outlets Charger 5V 3.6A Heavy Duty Extension Power Strip With Safety Switch Protection socket	3	1,475.00	4,425.0
33	Unit	Selens Green Screen Muslin Backdrop Photo Studio Adjustable 2x2m Background Stand Kit For Photography Studio Equipment	1	4,615.00	4,615.0
34	Set	ENOVATION STUDIO SET (3 250W STUDIO FLASH LIGHTS+STAND/UMBRELLAS/SOFTBOX/TRIGGER)	1	25,100.00	25,100.0
35	Unit	Ring Light, Specifications: CRI: 90+, Color Temperature: 5500K(±200K), Output Voltage: 15VDC 5.0A, Voltage: 100~240VAC 50/60Hz 2A, Output Power: 55W Lumen: 4800LM, Inner Ring: 36.5cm, External Diameter: 48.5cm, Item Size: 57.5 * 48.5 * 6.7cm / 22.6 * 19.1 * 2.6in, Item Weight: 1240kg / 2.7lb, Package Size: 50 * 49 * 11cm / 19.7 * 19.3 * 4.3in, Package Weight: 3413g / 7.5lb, Our LED Ring Light by is an 18"	2	4,195.00	8,390.00
36	Unit	Headphone with Mic and Noise Cancellation	1	2,500.00	2,500.00
37	Unit	HDMI Wireless Transmitter Computer Receiving and Transmitting Audio and Video Extended Projection HD 1080P - 200m barier-free transmission	1	12,775.00	12,775.00
38	Unit	5Meter 3pin XLR Male to Female XLR Cable Microphone Sound Cannon Cable Plug	3	765.00	2,295.00
39	Unit	2 Fernale Stereo RCA Jack to Stereo Male PL 6.35mm Plug Converter Connector Adapter Adaptor Y Split Splitter 1/4in 1/4 in PL55 TRS Mic Microphone	2	240.00	480.00
40	Unit	Fernale RCA Jack to Male PL PL55 Mono Plug 6.35mm 1/4in Connector Adaptor Adapter Converter Audio Mic Mixer Microphone AUX TS PL 55	2	250.00	500.00
41	Unit	3.5mm Female Jack to PL 6.35mm 1/4in Male Stereo TRS Plug Connector Adaptor Converter Adapter Audio Interface Mic Microphone AUX Headphone Jack AUX PL 55 PL55 Metal Heavy Duty Nickel Coated	2	255.00	510.00
42	Unit	1 Meter 6.35mm Male to 3.5mm Male TRS Stereo Audio Cable (Ugreen)	2	550.00	1,100.00
43	Unit	5 Meter Premium 6.35mm Mono Jack TS Cable (Ugreen)	2	680.00	1,360.00
44	Unit	AUX Audio Cable 3.5mm audio Jack (3-5Meters)	2	420.00	840.00
45	Unit	XLR to 3.5mm Microphone Audio HiFi Cable	2	395.00	790.00
46	Unit	Professional Swing Boom Floor Microphone Tripod Floor Stand with Shock-proof Mount Mic Filter	2	1,310.00	2,620.00
47	Unit	ORICO Powered USB 3.0 HUB 7 4 Ports Data Extension with 1 Charging Port and Individual On/Off Switches 12V Power	2	1,780.00	3,560.00
41	-	Adapter for PC			

	"Procurement of Studio According and Live Streaming Equipment for Webinars, Trainings and AVP Recording"			
Total Amount:	Seven Hundred Ninety One Thousand Eight Hundred Seventy Six & 5	0/100 Pesos Only	₽ 791,876.50	
	e to make the full delivery within the time specified above, a penalty of every day of delay shall be imposed. Ver Ai very F. Ca-reae w Signature over Printed Name July 25, 2022	y truly yours, DR. RUTH L. FU	ENTES, CESO IV Il Director	
Funds A	wailable: WAREN Y. INDOC Accountant III	ALOBS No.: Amount :	₱791,876.50	

ORD-BAC-PO-2022 05 119



Address: President Corazon C. Aquino Regional Government

Center, Balintawak, Pagadian City 7016

Website: www.depedro9.net; www.ro9-deped.com

Email: region9@deped.gov.ph









Republic of the Philippines

Department Of Education

Regional Office IX, Zamboanga Peninsula

July 12, 2022

JOZETH TRADING

Suite 307 Pasda Mansion, Panay Ave., Cor. Timog Ave., Quezon City

SUBJECT:

NOTICE OF AWARD

Dear Sir/Madam:

Please be informed that the contract for the "Procurement of Studio Recording and Live Streaming Equipment for Webinars, Trainings and AVP Recording" with PR No. 2022 05 119 in the amount of Seven Hundred Ninety One Thousand Eight Hundred Seventy Six & 50/100 Pesos Only (PHP 791876.50) is hereby awarded to your establishment.

The quotation you have submitted was found to be the Lowest Calculated and Responsive Quotation and most advantageous to the government complying with all the requirements for eligibility.

Please affix your signature in the space provided below as indication of your acceptance of the award.

Very truly yours,

DR. RUTH L. FUENTES, CESO IV

Regional Director

Conforme:

ATURAL F. CARRAGO

Date: July 13, 2022

ORD-BAC-NOA-2022 05 119







Email: region9@deped.gov.ph